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while(True):
value = client.get_ready() }@Jﬁz@

value = client.search_left()

value = client.get_ready() } B /ED)

value = client.walk_down()

while(True):
= value = client.get_ready()
ZRYBT o value = client.look_up() } WIES
value = client.get_ready()
value = client.put_right() }@m;@
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CChBTATSLMNREI—FFET,

get_ready()
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Exercises 1
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while(True):
value = client.get_ready() } Tl E)
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value = client.walk_down

[ ] } PENev= 20
[ ]} BB

[ ] } BB




Exercises 2

TOvOREENEZEITIAN, TOVvIRBZIEEE~BEITEL51CT
Oy53 45 0LFY,

FATLNTICBET5LEICTAVIA MO EEREREL
THoBEILES. (TOVvINHIEEHICBRILE
ER

HY)

B2



Exercises 2
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Exercises 2

XX IVFDTDEHE

while(True): / ‘/7““}70)1IE
ifvalue[ ] 1= : /7‘D‘y775“%b\&§Tl:$§@J

value = client.
else;

value = client.
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XX IVFDTDEHE

while(True): / ‘/7““}70)1IE
if value[ ] 1= : /7‘D‘y775“%b\&§Tl:$§@J
0

value = client.
else;

value = client. 0
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while(True): JByo0iE
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if value[7] != 2: / TIC#E
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value = client.walk_down(

elif value[ | != . .
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value = client.walk_ / HIZFBE)

else;
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value = client.walk_
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value = client.walk_down(
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value = client.walk_ ()
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Exercises 4
FATFLNREYSHEDERIZHINESIHEHETEH 5T,

— get_ready()
lm@ml )

{0,0,0, ,0, ,0,0,0}



Exercises 4

while(True):
if value[ ] . XY IIIDEMEIZTATLIGHS
value = client.walk_ EIZFEE
elif value[ | : X rSURDBEMBIZTATLHHD
value = client.walk_ r=lfat 243
else:
if value[7] != 2: B
value = client.walk_down()
elif value[5] = 2 : .
value = client.walk_right() > TATLDNRNEOBE
else:
value = client.walk_left()
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while(True):
if value[ ]

value = client.walk_
elif value[ ] :

value = client.walk_
elif value[ ] :

value = client.walk_
elif value[ ] :

value = client.walk_
else:
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Exercises 6

while(True):
value = client.get_ready() #H—ICTBERNTTLEZEEAD

number = random.randint(0, 3)

if number == 0:
client.walk_up()

elif number == 1:
client.walk_down()

elif number == 2:
client.walk_left()

elif number == 3:
client.walk_right()



Exercises 7
%5935 8 LICBIDLTHET,
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while(True):
value = client.get_ready() # —/N\—IZ1TEIEEMNT T LI-EEAD
number = random.randint(0, 3)
if number == 0:
if value[ ]!1=
client.walk_up()
else:
client.search_down()
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— get_ready()
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while(True):
if value[ ] : XY IIIDEMEIZTATLIGHS
value = client.walk_ EIZFEE
elif value[ ] : X vSUADEMBIZT AT LD HS
value = client.walk_ y =il 43
else:
number = random.randint(0, 3)
if number == 0:
if value[ ]1= .
client.walk_up() > TATLARVEDE)S
else:
client.search_down()
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Exercises 10

whileX &break
while(ture):

if 514
break;

l

whileZ 7 H



Exercises 10

else:
#IUF LICECAMICED (BEAHHEPYULEET)
while(True):
number = random.randint(0, 3)
if number == 0:
if value[1] != 2:
client.walk_up()
elif number == 1:
if value[7] != 2:
client.walk_down()
elif number == 2: : :
if value[3] = 2: e"ﬂfnygubee[;] o

client.walk_left()

)

client.walk_right()

)
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Exercises 11

elif value[ ]==3: #RIOELIZTATLLHSH
if value[ ]!=2:
value = client.walk_up()
elif value[ ]!= 2:
client.walk_left()
elif value[ ]!= 2:
client.walk_right()
else:
client.walk_down()
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Exercises 12

#HEFICTAVIENSED

if value[ ]==1: # EICHEFIUSEE
value = client.put_up()

elif value[ ]==1: H#EIZHFNUSE
value = client.put_right()

elif value[ ]==1: #TFIZHFINSE
value = client.put_down()

elif value[ ]==1: HEIZHFNUSE

value = client.put_left()
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Exercises 13
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elif value[ ]==1: #A LIZTHFEHLLNSEM?
if value[ ]!=2: #EIZTOVIDHBH ?
client.walk_right()
elif value[ ]!=2:
client.walk_down() #TICTRYILRHDIH?
else:
client.search_down() #&YHZIT TERS
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def main():
number = 5 numberZ 2 [XmainBE D &
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print (number)

O—AJILE

BIDA—TEDHRIZBEILI-NER A THLIZIE
CDFEFETIXFEZALY,



Exercises 14
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number = 0 EITHEER

def main() : 0
global number 1
print (number) 2

number += 1 - A O—N LT
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Exercises 14
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pre walk = 0 «— FO—/\JLZEE OIZ#HA1L

def main() :
value = []

client = CHaser.Client ()
global pre_walk — S O—/\JLEHIZF7HIERTS

while (True) :



Exercises 14
BBl CE-ARET O—/\ILEHIZEEET S

number = random. randint (0, 3)

if number == 0: tEICREIT S
if valuel[1] != 2: tEizonyohdHsmhn
if pre_walk 1= 1: HETDGIE &R C TELVD
client.walk_up ()
pre_ walk = 0 HSBELI-ARZEIELTHL

break;
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Exercises 14
#8h T+ B 5T ARl HNFr &b 5 H

free_ walk = 0
If value[ ] ==

free walk = free_walk + 1
If value[ ] ==

free walk = free_walk + 1
If value[ ] ==

free walk = free_walk + 1
If value[ ] ==

free walk = free_walk + 1

#1 DR LT

T EMTELLY
IT free_ walk == 3:

i f value[ ] 1= 2:
client. walk _up

elif valuel

1= 2:

client. walk left ()

elif valuel

1= 2:

client. waIk _down ()

elif valuel

1= 2:

client. walk _right ()
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